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TEST YOUR SKILLS
TRIANGLES, QUADRILATERALS AND CIRCLES

1. The external bisector of  B and  C of  ABC
(where AB and AC extended to E and F respectively)
meet at point P. If  BAC=100º, then the measure of
 BPC is
ABC esa B rFkk B ds okg; v)Z fcUnq P ij feyrs gSA

¼tgk¡ AB rFkk AC dks dze”k E rFkk F rd c<k;k x;½ ;fn

BAC 100   ] rks BPC dh eki Kkr djks
(a) 50º (b) 80º (c) 40º (d) 100º

2. In  ABC, O is the centroid and AD, BE, CF are three

medians and the area of  AOE=15 cm 2 , then area
of quadrilateral BDOF is

ABC esa O dsUnzd gSA rFkk AD,BE,CF ekf/;dk,a gSA AOE

dk {kS=Qy 15 lseh 2 gSA rks prqHkqZt BDOF dk {kS=Qy Kkr
djks

(a) 20 cm2 (b) 30 cm 2 (c) 40 cm2 (d) 25 cm2

3. The side AB of a parallelogram ABCD is produced to
E in such way that BE=AB. DE intersects BC at Q.
The point Q divides BC in the ratio
lekUrj prqHkqZt ABCD dh Hkqtk AB dks E rd bl izdkj
c<k;k x;k gS fd BE AB. DE,BC dks Q ij dkVrh gSA
fcUnq Q Hkqtk BC dks fdl vuqikr esa ckaVsxk
(a) 1:2 (b) 1:1 (c) 2:3 (d) 2:1

4. The points D and E are taken on the sides AB and AC
of  ABC such that AD=1/3, AE=1/3 AC. If the
length of BC is 15 cm, then the length of DE is

ABC es Hkqtk AB rFkk AC ij nks fcUnq D rFkk E bl izdkj
gS AD 1 / 3,AE 1 / 3AC.  ;fn BC dh yEckbZ 15 lseh gks]
rks AC dh yEckbZ Kkr djks a
(a) 10 cm (b) 8 cm (c) 6 cm (d) 5 cm

5. D is any point on side AC of  ABC. If P, Q, X, Y are
the mid points of AB, BC, AD andDE respectively,
then the ratio of PX and QY is

ABC es Hkqtk AC ij dksbZ fcUnq D gSA ;fn
P,Q,X rFkk Y dze”k% AB,BC,AD rFkk DE ds e/; fcUnq gSA rks
PX rFkk QY dk vuqikr Kkr djks
(a) 1:2 (b) 1:1 (c) 2:1 (d)2:3

6. In  ABC, PQ  is parallel to BC. If AP:PB=1:2 and
AQ=3 cm; AC is equal to

ABC es] PQ,BC ds lekUrj gSA ;fn AP :PB 1:2 rFkk
AQ 3 lseh gS rks AC dk eku gS
(a) 6 cm (b) 9 cm (c) 12 cm (d) 8 cm

7. A straight line parallel to the base BC of the triangle
ABC intersects AB and AC at the ponts D andE
respectively. If the area of the  ABE be 36 sq. cm,
then the area of the  ACD is
ABC esa] vk/kkj BC ds lekUrj ,d js[kk Hkqtkvksa AB rFkk
AC dks dze”k D rFkk E fcUnq ij dkVrh gSA ;fn ABE dk
{kS=Qy 36 oxZ lseh gS rks ACD dk {kS=Qy Kkr djks
(a) 18 sq.cm (b) 36 sq. cm (c) 18 cm (d) 36 cm

8. If in a  ABC, the medians CD and BE intersect each
other at O, then the ratio of the areas of  ODE and
 ABC is

f=Hkqt ,]ch]lh esa ekf/;dk,a lh] Mh rFkk ch] bZ vkil esa fcUnq
vks ij izfrPNsn djrh gS] rks f=Hkqt vksMhbZ rFkk f=Hkqt ds
{kS=Qyksa dk vuqikr gS
(a) 1:6 (b) 6:1 (c) 1:12 (d) 12:1

9. In a triangle ABC, AB+BC=12 cm, BC+CA=14 cm
and CA+AB =18 cm. Find the radius of the  circle (in
cm) which has the same  perimeter as the triangle.
f=Hkqt ,chlh esa AB BC 12  lseh] BC CA 14  lseh vkSj
CA AB 18  lseh gks rks ml o`Rr dh f=T;k Kkr djks]
ftldk ifjeki] f=Hkqt ds ifjeki ds cjkcj gks
(a) 5/2 (b) 7/2 (c) 9/2 (d) 11/2

10. In  ABC D and E are points on AB and AC
respectively such that DE|| BC and DE divides the
 ABC into two parts of equal areas. Then ratio of AD
and BD is
f=Hkqt ,chlh esa] Mh rFkk bZ fcUnq dze”k Hkqtk ,ch rFkk ,lh
ij bl izdkj gS fd DE||BCrFkk DE f=Hkqt ABC dks leku
{kS=Qy okys Hkkxksa esa ck¡Vrh gSA rks AD rFkk BD dk vuqikr
Kkr djks
(a) 1:1 (b) 1: 2 1 (c) 1: 2 (d) 1: 2 1

11. X and Y are centres of circles of radii 9 cm and 2 cm
respectively, XY=17 cm. Z is the centre of a circle of
radius r cm which touches the above circles

externally. Given that XZY 90   , the value of r is
,Dl rFkk okbZ dze”k 9 lseh rFkk 2 lseh f=T;k okys nks o`Rrksa
ds dsUnz gSA XY 17 lsehA Z ml oR̀r dk dsUnz gSA ftldh
f=T;k r lseh RkFkk tks nksuksa oR̀rksa dks okg; Li”kZ djrk gSA

fn;k gS XZY 90   r dk eku gksxk
(a) 13 cm(b) 6 cm(c) 9 cm (d) 8 cm

12. Three circles of radii 4 cm, 6 cm and 8 cm touch each
other pairwise externally. The area of the triangle
formed, by the line segments joining the centres of
the three circles is
rhu oR̀r ftudh f=T;k,a dze”K 4 lseh] 6 lseh rFkk 9 lseh
gSA vkil esa tksMs ls okg; Li”kZ djrs gSA rhuksa o`Rrksa ds dsUnzks
dks feykus okys js[kk[k.Mksa ls cus f=Hkqt dk {kS=Qy gS
(a) 144 13 sq. cm (b) 12 105 sq. cm

(c) 6 6 sq. cm (d) 24 6 sq. cm
13. In triangle PQR, points A, B and C are taken onPQ,

PR andQR respectively such that QC=AC and CR=CB.
If QPR=40º. Then  ACB is equal to
f=Hkqt PQR esa fcUnq A,B rFkk C dze”k PQ,PR rFkk QR

ij bl izdkj fn;s x;s gS fd QC AC rFkk CR CB ;fn

QPR 40  ] rks ACB dk eku gksxk
(a) 140º (b)40º (c) 70º (d) 100º

14. ABCD is a trapezium whose side AD is parallel to BC.

Diagonals AC and BD intersect at O. If

AO 3, CO x 3,   BO 3x 19  and DO x 5,  the
value of (s) of x will be
leyEc ABCD esa Hkqtk AD rFkk BC lekUrj gSA rFkk fod.kZ
AC rFkk BD fcUnq O ij izfrPNsn djrh gSA ;fn
AO 3, CO x 3,   BO 3x 19  rFkk DO x 5,  rks x

dk eku gksxk
(a) 7,6 (b) 12,6 (c) 7,10 (d) 8,9
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15. Two circles with centres A and B and radius 2 units
touch each other externally at ‘C’. A third circle with
centre ‘C’ and radius ‘2’ units meets other two at D
and E. Then the area of the quadrilateral ABDE is
nks o`Rr ftuds dsUnz A rFkk B gSA ftudh f=T;k 2 bdkbZ
gSA ,d nwljs dks fcUnq ij okg; Li”kZ djrs gSA ,d rhljk
o`Rr ftldk dsUnz C rFkk f=T;k 2 bdkbZ gSa nksuksa dks D rFkk
E ij feyrk gSA prqHkqZt ABDE dk  {kS=Qy gS
(a) 2 2 sq. unit (b) 3 3 unit

(c) 3 2 sq.unit (d) 2 3 unit
16. Two triangles ABC and DEF are similar to each other

in which AB=10 cm, DE=8 cm. Then the ratio of the
areas of triangles ABC and DEF is
nks f=Hkqt ABC rFkk DEF le:Ik gSA AB 10,DE 8  lseh
f=Hkqt ABC rFkk DEF ds {kS=Qyks dk vuqikr gS
(a) 4:5 (b) 25:16 (c) 64:125 (d)4:7

17. AB and CD are two parallel chords on the opposite
sides of the centre of the circle. If AB =10 cm,
CD 24 cm and the radius of the circle is 13 cm, the
distance ebtween the chords is
AB rFkk CD nks lekUrj thok o`Rr ds dsUnz ds nksuksa vksj
fLFkr gSA ;fn AB 10 lseh] CD 24 lseh rFkk o`Rr dh
f=T;k 13 lseh gSA rks nksuksa thokvksa ds chp dh nwjh Kkr djks
(a) 17 cm (b) 15 cm (c) 16 cm (d) 18 cm

18. Two circles of radii 9 cm and 2 cm respectively have
centres X and Y and XY =17 cm. Circle o radius r cm
with centre Z touches two given circles externally. If
 XZY=90º, find r.

(a) 18 cm (b) 3 cm (c) 12 cm (d) 6 cm
19. ABC is a right angled triangle, B being the right

angle. Mid points ofBC andAC are respectively B’ and
A’. The ratio of the area of the quadrilateral AA’ B’B
to the area of the triangles ABC is

ABC “kh’kZ B ij ledks.k f=Hkqt gSA BC rFkk AC ds e/;
fcUnq dze”k B' rFkk A ' gSA prqHkqZt AA 'B'B rFkk ABC ds
{kS=Qyksa dk vuqikr gS
(a) 1:2 (b) 2:3 (c) 3:4(d) None of the above

20. In  ABC, DE||AC.D and E are two points on AB and
CB respectively. If AB=10 cm and AD=4 cm, then
BE: CE is

ABC esa DE|| AC ] D rFkk E dze”k AB rFkk CB ij nks
fcUnq gSA ;fn AB 10 lseh vkSj AD 4 lseh] rks BE : CE

gS
(a) 2:3 (b) 2:5 (c) 5:2 (d) 3:2

21. Inside a square ABCD,  BEC is an equilateral
triangle. If CE and BD intersect at O, then  BOC is
equal to
(a) 60º (b) 75º (c) 90º (d) 120º
oxZ ABCD esa BEC ,d leckgq f=Hkqt gSA ;fn CE rFkk
BO fcUnq O ij izfrPNsn djrs gS rks BOC dk eku gS

22. Let C be a point on a straight line AB. Circles are
drawn with diameters AC and AB. Let P be any opint
on the circumference of the circle with diameter AB.
If AP meets the other circle at Q, then
ekuk ,d lh/kh js[kk AB ij dksbZ fcUnq C gSA O;kl AC RkFkk
AB ds nks oR̀r [khaps x;sA ekuk P O;kl AB okys o`Rr dh

ifjf/k ij dksbZ fcUnq gSA ;fn AP nwljs o`Rr ls Q ij feyrk
gS rks
(a) QC||PB (b) QC is never parallel to PB
(c) QC=1/2 PB (d) QC||PB and Q

23. The perimeter of a square is 80. What is the area of
the square ?
efkeâmeer Jeie& keâer heefjefOe 80 mesceer nw Jeie& keâe #ew$eheâue keäÙee nesiee

(a) 20 (b) 80 (c) 160 (d) 400
24. The diagonals of a rhombus are 10 and 24. Find the
perimeter of the rhombus.
Skeâ efJe<ece keâesCe keâs efJekeâC&e 10 Deewj 24 nw efJe<ece keâesCe keâer heefjefOe keäÙee
nesieeer

(a) 13 (b)40 (c) 52 (d) 48
25. The perimeter of a square is 24. In simplest radical
form, find the length of the diagonal of the square.
Skeâ Jeie& keâer heefjefOe 24 nw mejuelece ®he ces Jeie& keâs efJekeâCe& keâer uecyeeF&
%eele keâerefpeS

(a) 6 2 (b) 6 3 (c) 72 (d) 108
26. the opposite side of a parallelogram are represented
by  2+10 and 5-20
Find the length of the side of the parallelogram
represented by 4-1.
efkeâmeer meceevlej ÛelegYegpe& ces efJehejerle efoMee ces 2 10 Deewj 5 20 mes
heÇefleefveefOelJe keâj jns nw 4 1 Éeje heÇefleefveefOelJe meceevlej ÛelegYeg&pe keâe he#e keâer
uecyeeF& keâe helee ueieeSb

(a) 10 (b)30 (c) 39 (d) 40
27. If one angle of a parallelogram is 60 degrees, find
the number of degrees in the remaining 3 angles.

(a) 60, 60, 60 (b) 30, 60, 90
(c) 60, 120, 120 (d) 60, 120, 150


